

## SOME SPECIAL CHARACTERISTICS OF LATTICE ORDERED COMMUTATIVE LOOPS

V. B. V. N. PRASAD<sup>1</sup>, K. PRASAD, MUDDA RAMESH, RAMA DEVI BURRI, AND T. RAMA RAO

**ABSTRACT.** In this paper, we have shown that a commutative l-group resembles like a commutative l-group, and most of the features of l-groups are retained by the l-loop. After developing some of the relevant properties of an l-loop, we have characterised its positive cone, obtained a necessary and sufficient condition for an l-loop to become an l-group and for it to be totally ordered.

### 1. INTRODUCTION

In 1967, G. Birkhoff in Lattice Theory, various properties of lattice ordered groups were established. In 1970, T. Evans described about lattice ordered loops and quasigroups. In 1990, Hala made a description on quasigroups and loops [1-3]. In view of this a lot of interest has been shown different authors develop these concepts in different algebraic systems [4-13]. In 2019, B.Sailaja, V.B.V.N. Prasad, developed exploring the axiom of excluded middle and axiom of contradiction in fuzzy sets. In 2020, R. Sunil Kumar and V.B.V.N. Prasad were gave some special characteristics of Atoms in Lattice ordered loops and in 2020, V.B.V.N.Prasad, T. Rama Rao and some authors were gave Some Basic Principles on Posets, Hasse diagrams and lattices [14-16].

In this manuscript, we have shown that a commutative l-group resembles like a commutative l-group, and most of the features of l-groups are retained by the

---

<sup>1</sup>corresponding author

2020 Mathematics Subject Classification. 20N05, 06A06, 06B99, 06F20.

Key words and phrases. Loops, partial order, lattices, ordered abelian groups.

l-loop. After developing some of the relevant properties of an l-loop, we have characterised its positive cone, obtained a necessary and sufficient condition for an l-loop to become an l-group and for it to be totally ordered.

## 2. LOOPS

**Definition 2.1.** A commutative loop is a system  $A=(A, +, -)$  such that

- (i)  $(A, +)$  is a commutative groupoid with identity element denoted by '0',
- (ii) For each pair  $a, b \in A$ , there exists a unique  $x \in A$  such that  $x + b = a$  and we denote this  $x$  by  $a - b$ .

**Corollary 2.1.** In a commutative loop the cancellation laws hold.

**Corollary 2.2.**

- (i)  $\forall a \in A, a - a = 0, a - 0 = a$  and  $(a + a) + a = a + (a + a)$ ,
- (ii)  $\forall a, b \in A, (a + b) + a = a + (b + a)$ ,
- (iii)  $\forall a, b \in A, (a + b) - a = a + (b - a) = a - (a - b) = b$ .

**Lemma 2.1.** Any commutative loop  $A$  can be equationally defined as an algebra with binary operations  $+$  and  $-$ , satisfying condition (i) of definition 1 and condition (iii) of Corollary 2.2.

**Lemma 2.2.** A subset  $S$  of a commutative loop  $A$  is a sub-loop if and only if  $\forall x, y \in S, x + y \in S$  and  $x - y \in S$

The proof of Lemma 2.1 is easy and a part of literature. The proof of Lemma 2.2 follows from Lemma 2.1. Throughout this paper a loop means a commutative loop, and very often we write  $0 - a$  as  $(-a)$ .

## 3. PARTIALLY ORDERED LOOPS

**Definition 3.1.** A system  $A = (A, +, -, \leq)$  is called a partially ordered loop or briefly a po-loop if

- (i)  $(A, +, -)$  is a loop,
- (ii)  $(A, \leq)$  is a poset in which every loop translation  $x \rightarrow a + x$  is an order-automorphism.

**Lemma 3.1.** In any po-loop  $A, \forall a, b, c \in A, a \leq b \Leftrightarrow a - c \leq b - c$  and also  $c - b \leq c - a$  and hence  $-b \leq -a, a - b \leq 0$ .

*Proof.*  $a \leq b \Leftrightarrow c + (a - c) \leq c + (b - c) \Leftrightarrow a - c \leq b - c$  and  $a \leq b \Leftrightarrow a + (c - a) \leq b + (c - a) \Leftrightarrow b + (c - b) \leq b + (c - a) \Leftrightarrow c - b \leq c - a$ . Hence the proof.  $\square$

**Lemma 3.2.** *Except in the trivial case of  $A = \{0\}$ , a po-loop  $A$  cannot have universal bounds.*

*Proof.* Routine  $\square$

**Remark 3.1.** *Let  $A$  be a po-loop. The set  $P = \{x \in A / x \geq 0\}$  is referred to as the positive cone of  $A$ . Also we write  $-P = \{x \in A / 0 - x \in P\}$ .*

**Lemma 3.3.** *In a po-loop  $A$  with positive cone  $P, \forall a, x \in A$ ,*

- (i)  $x \in P, x + P = P \Rightarrow x = 0$ ,
- (ii)  $a + (x + P) \subseteq (a + x) + P$ ,
- (iii)  $(x + P) - a \subseteq (x - a) + P$ .

*Proof.*

- (i)  $x + P = P \Rightarrow -x \in P \Rightarrow x \in -P \Rightarrow x = 0$ .
- (ii) For  $p \in P, a + (x + p) \geq a + x \Rightarrow [a + (x + p)] - (a + x) \in P$  and the proof follows.
- (iii) For  $p \in P, (x + p) - a \geq x - a \Rightarrow [(x + p) - a] - (x - a) \in P$  and the proof follows.

$\square$

**Theorem 3.1.** *In po-loop  $A$ , the positive cone  $P$  has the following properties for all  $a, x, b \in A$ :*

- (i)  $P \cap -P = 0$ ,
- (ii)  $(a + P) + P = a + P$ ,
- (iii)  $a + (x + P) = (a + x) + P$ ,
- (iv)  $(x + P) - a = (x - a) + P$ ,
- (v)  $a \leq b \iff b - a \in P$ .

*Conversely, if  $A$  is a loop and  $P \subset A$  satisfying (i) to (iv), then by defining  $a \geq b$  iff  $(b - a) \in P$ ,  $A$  becomes po-loop in which  $P$  is precisely positive cone.*

*Proof.*

(i) See remark to lemma 3.2.

(ii) Clearly  $a + P \subseteq (a + P) + P$ . For  $p, q \in P, [(a + p) + q] \geq a \Rightarrow [(a + p) + q] - a \in P$

(iii) In view of Lemma 3.3(ii), it suffices to show  $(a + x) + P \subseteq a + (x + P)$ . Now  $[(a + x) + P] - a \subseteq [(a + x) - a] + P = x + P$ , by using Lemma 3.3(iii).

(iv)  $[(x - a) + P] + a \subseteq [(x - a) + a] + P$  by Lemma (3.3) (ii)  $= x + P$  and the proof follows by Lemma (3.3)(iii).

(v) Follows from Lemma (3.1). Conversely let  $P$  satisfies (i) to (iv).

Then clearly the condition (ii) leads to  $a \leq b \Leftrightarrow b + P \subseteq a + P$ , which together with Lemma (3.3) (i) show that ' $\leq$ ' is a partial order relation. Clearly the map  $x \rightarrow x + a$  is a bijection.

Now  $x \leq y$  iff  $y - x \in P$  iff  $y \in x + P$  iff  $y + a \in (x + P) + a = (x + a) + P$  iff  $x + a \leq y + a$ .

This completes the proof.  $\square$

**Lemma 3.4.** *In any po-loop  $A$ , the positive cone  $P$  is invariant under all inner automorphisms, namely,  $x \rightarrow (-a + x) + a$  and  $x \rightarrow (-a) + (x + a)$ .*

*Proof.* follows easily from the definition of a po-loop.  $\square$

**Lemma 3.5.** *A po-loop  $A$  is directed if and only if every element is expressed as the difference of two positive elements in the sense that  $x \in A \Rightarrow x = a - b$ , where  $a$  and  $b$  are two positive elements in  $A$ .*

*Proof.* If  $A$  is directed, for  $a \in A$ , there exists  $0 \leq c \in A$  such that  $a \leq c$ . Then  $a = c - (c - a)$  gives the required representation. Conversely if  $a, b \in A$ , then  $a = a' - a''$ ,  $b = b' - b''$  where  $0 \leq a', a'', b', b'' \in A$  and  $c = a' + b' \Rightarrow a, b, c \in A$ . This completes the proof.  $\square$

**Corollary 3.1.** *Any directed loop is bidirected.*

**Theorem 3.2.** *In a commutative po-loop  $A$ , the mapping  $x \rightarrow a - x$  is a dual order-automorphism for any  $a \in A$ .*

*Proof.* Since  $a - x$  exists  $\forall a, x \in A$  and  $x = y \Leftrightarrow a - x = a - y$ , the mapping  $x \rightarrow a - x$  is a bijection. Further  $x \leq y \Leftrightarrow x + (a - x) \leq y + (a - x) \Leftrightarrow a \leq y + (a - x) \Leftrightarrow y + (a - y) \leq y + (a - x) \Leftrightarrow a - y \leq a - x$ . Hence the proof.  $\square$

#### 4. LATTICE ORDERED LOOPS

**Definition 4.1.** *In a po-loop  $A = (A, +, -, \leq)$ , if  $(A, \leq)$  is a lattice, then we call the system  $A = (A, +, -, \leq)$  a lattice ordered loop or briefly an l-loop.*

**Corollary 4.1.** *In any l-loop  $A, \forall a, b, c \in A$ ,*

- (i)  $a + (b \vee c) = (a + b) \vee (a + c)$   
 $a + (b \wedge c) = (a + b) \wedge (a + c)$
- (ii)  $a - (b \vee c) = (a - b) \wedge (a - c)$   
 $a - (b \wedge c) = (a - b) \vee (a - c)$
- (iii)  $(a \vee b) - c = (a - c) \vee (b - c)$   
 $(a \wedge b) - c = (a - c) \wedge (b - c)$

*Proof.*

(i) is a part of literature.

(ii) Follows from theorem 3.2.

(iii)  $c + [(a \vee b) - c] = a \vee b = [c + (a - c)] \vee [c + (b - c)] = c + [(a - c) \vee (b - c)] \Rightarrow (a \vee b) - c = (a - c) \vee (b - c)$ . Similarly  $(a \wedge b) - c = (a - c) \wedge (b - c)$ .  $\square$

**Theorem 4.1.** *A po-loop  $A$  is an l-loop if and only if  $a \vee 0$  exists  $\forall a \in A$ .*

*Proof.* Necessity is trivial. To prove the converse it is enough to observe that  $(a - b) \vee 0 + b$  acts as  $a \vee b$ . The existence of  $a \wedge b$  now follows from Corollary 4.1 (ii).

It is well known that in an l-loop the lattice becomes automatically distributive. We mention below some more results that hold in l-loops.  $\square$

**Lemma 4.1.** *In any l-loop  $A$ , for all  $a, b, c \in A$ ,*

- (i)  $(a - b) \vee 0 + a \wedge b = a$  and as such  $a \vee 0 + a \wedge 0 = a$ .
- (ii)  $(a - b) \vee (b - a) + a \wedge b = a \vee b$ .
- (iii)  $(a - b) \wedge (b - a) = a \wedge b - a \vee b$ .
- (iv)  $a \wedge b + a \vee b = a + b$ .

*Proof.*

(i)  $(a - b) \vee 0 + a \wedge b = [a - a \wedge b] + a \wedge b = a$  (by Corollary 4.1(i)).

(ii)  $(a \vee b) - (a \wedge b) = [(a \vee b) - a] \vee [(a \wedge b) - b] = (a - b) \vee (b - a) \vee 0$  and  $a \wedge b + [(a - b) \vee (b - a)] = [a + \{(a - b) \vee (b - a)\}] \wedge [b + (a - b) \vee (b - a)] \geq [a + (b - a)] \wedge [b + (a - b)] = a \wedge b \Rightarrow (a - b) \vee (b - a) \geq 0$ . This completes the proof of (ii).

(iii) Similar to(ii).

(iv) Found in the literature.  $\square$

**Lemma 4.2.** *In an l-loop  $A$ , if  $b \wedge c = 0$ , then  $(b - c) \vee 0 = b$  and  $(b - c) \wedge 0 = -c$*

*Proof.* Follows from Corollary 4.1(ii).  $\square$

**Corollary 4.2.** *In an l-loop  $A$ , for  $x, y \in A$ ,  $x \wedge y = 0 \Rightarrow x - y = x + (0 - y)$ .*

*Proof.*  $x - y = (x - y) \vee 0 + (x - y) \wedge 0 = x + (0 - y)$ .  $\square$

We write  $|x| = x \vee (-x)$ . Then it is easy to prove the following:

**Lemma 4.3.** *In any l-loop  $A$ , for all  $a, x \in A$ ,  $-a \leq x \leq a \Leftrightarrow |x| \leq a$ .*

**Lemma 4.4.** *In any l-loop  $A$ , for all  $a, x, y \geq 0$ ,*

(i)  $a \wedge (x + y) \leq a \wedge x + a \wedge y$ ;

(ii)  $a \vee (x + y) \leq a \vee x + a \vee y$ .

*Proof.*

(i)  $\{a \wedge (x + y)\} - (a \wedge x) = [\{a \wedge (x + y)\} - a] \vee [\{a \wedge (x + y)\} - x]$   
 $= [\{0 \wedge (x + y)\} - a] \vee [(a - x) \wedge \{(x + y) - x\}]$   
 $\leq 0 \vee [(a - x) \wedge y] \leq 0 \vee (a \wedge y) = (0 \vee a) \wedge (0 \vee y) = a \wedge y$   
 $\Rightarrow a \wedge (x + y) \leq a \wedge x + a \wedge y$ .

(ii) Follows from the definition of an l-loop.  $\square$

**Theorem 4.2.** *An l-loop  $A$  is an l-group if and only if  $a - c \leq (a - b) + (b - c)$  for all  $a, b, c \in A$ .*

*Proof.* Necessity is trivial. Conversely by hypothesis we have:

$$[a + (b + c)] - c \leq [\{a + (b + c)\} - (b + c)] + [(b + c) - c] = a + b.$$

So,  $a + (b + c) \leq (a + b) + c$ , and  $\{(a + b) + c\} - a \leq [\{(a + b) + c\} - (a + b)] + [(a + b) - a] = b + c$ .

In a similar way  $(a + b) + c \leq a + (b + c)$ .

This completing the proof.  $\square$

**Theorem 4.3.** *Let  $A$  be an l-loop.  $A$  is totally ordered if and only if  $a, b > 0, a \wedge b \neq 0$ .*

*Proof.* If  $A$  is totally ordered and  $a, b > 0$ , then clearly  $a \wedge b \neq 0$ . Conversely let  $\forall a, b > 0, a \wedge b \neq 0$ .

If  $A$  is not totally ordered,  $\exists$  atleast one pair  $x, y \in A$ , such that  $x \parallel y$ , that is  $(x - y) \vee 0 \neq 0$  and  $(y - x) \vee 0 \neq 0$ .

Taking  $a = (x - y) \vee 0 > 0$  and  $b = (y - x) \vee 0 > 0$ ,

We get  $a \wedge b = [(x - y) \vee 0] \wedge [(y - x) \vee 0] = [(x - y) \wedge (y - x)] \vee 0 = 0$  since  $(x - y) \wedge (y - x) \leq 0 \forall x, y \in A$  by Lemma 4.1(iii).

But this contradicts the hypothesis. Hence  $A$  is totally ordered.  $\square$

Now we state the following results without proof:

**Lemma 4.5.** *If the Algebra  $(A, +, -, \vee)$  is a loop with  $+$  and  $-$  and a join semi lattice with  $\vee$ , and if  $a + (b \vee c) = (a + b) \vee (a + c)$ , then  $(A, +, -, \vee)$  is an  $l$ -loop.*

**Lemma 4.6.** *Every  $l$ -loop is isomorphic with an  $l$ -sub loop of an unrestricted direct product of sub directly irreducible  $l$ -loops.*

*In a commutative loop we can write  $na = a + a + a \dots + a$ ,  $n$  times, where  $n$  is a positive integer and we define  $(-n)a = n(-a)$ .*

**Lemma 4.7.** *Every  $l$ -loop is semi closed in the sense that  $n \in \mathbb{Z}^+, na \geq 0 \Leftrightarrow a \geq 0$ .*

**Corollary 4.3.**  $na \leq 0 \Rightarrow a \leq 0$ .

**Corollary 4.4.**  $na = 0 \Leftrightarrow a = 0$ .

**Corollary 4.5.** *Any  $l$ -loop is torsion free in the sense that every element except zero has infinite order.*

**Definition 4.2.** *A  $po$ -loop is called integrally closed if and only if  $na \leq b \forall n \in \mathbb{N} \Rightarrow a \leq 0$ . Then we have,*

**Lemma 4.8.** *A sub loop of a (conditionally) complete  $l$ -loop is integrally closed.*

## 5. CONCLUSION

In this manuscript, we have shown that a commutative  $l$ -group resembles like a commutative  $l$ -group, and most of the features of  $l$ -groups are retained by the  $l$ -loop. After developing some of the relevant properties of an  $l$ -loop, we have characterised its positive cone, obtained a necessary and sufficient condition for an  $l$ -loop to become an  $l$ -group and for it to be totally ordered and these concepts may be applied for different algebraic structures in future.

## REFERENCES

- [1] G. BIRKHOFF: *Lattice Theory*, 3rd edition, American Mathematical Society, Colloquium Publication, 160-163, 1967.
- [2] T. EVANS: *Lattice ordered loops and quasi groups*, Journal of Algebra, **16** (1970), 218-226.
- [3] H. O. PFLUGFELDEER: *Quasigroups and loops*, Heldermann Verlag, Sigma Series in Pure Mathematics, **7** (1990), 28-59.
- [4] VASHANTA, D. M. RAO, T. SATISH: *On Trio Ternary  $\Gamma$ -semigroups*, International Journal of Engineering and Technology (UAE), **7**(3) (2018), 157-159.
- [5] T. S. RAO, B. S. KUMAR, S. H. RAO: *Use of  $\Gamma$ - soft set in application of decision making problem*, Journal of Advanced Research in Dynamical and Control Systems, **10**(2) (2018), 284-290.
- [6] T. S. RAO, B. S. KUMAR: *On regular, ideals in partially ordered soft ternary semi groups*, International Journal of Civil Engineering and Technology, **9**(6) (2018), 830-837.
- [7] D. RAMESH, B. SATYANARAYANA, N. SRIMANNARAYANA: *Direct product of finite interval-valued intuitionistic fuzzy ideals in BF-algebra*, International Journal of Engineering and Technology (UAE), **7**(3.34) (2018), 631-635.
- [8] Y. BHARGAVI, T. ESWARLAL: *Vague semi prime ideals of a Gamma-semi ring*, Afrika Matematika, **29**(3-4) (2018), 425-434,
- [9] K. ANSARI, S. K. PANDA, O. CORUMLUOGLU: *Mathematical modelling of ionospheric TEC from Turkish permanent GNSS Network (TPGN) observables during 2009–2017 and predictability of NeQuick and Kriging models*, Astrophys Space Sci., **363** (2018), art.no.42.
- [10] M. P. SEETHA, Y. SARALA, L. G. JAYA: *Prime radicals in ternary semi groups*, International Journal of Innovative Technology and Exploring Engineering, **8**(6) Special Issue 4, (2019), 1403-1404.
- [11] C. SREEMANNARAYANA, M. D. RAO, P. SIVAPRASAD, N. T. RAO, K. ANURADHA: *On le-ternary semi groups-I*, International Journal of Recent Technology and Engineering, **7** (2019), 165-167.
- [12] C. SREEMANNARAYANA, M. D. RAO, P. SIVAPRASAD, M. S. LAVANYA, K. ANURADHA: *On le- Ternary semi groups-II*, International Journal of Recent Technology and Engineering, **7** (2019), 168-170.
- [13] R. LEELAVATHI, G.S . KUMAR, M. S. MURTHY, R. V. N. S. RAO: *Existence-uniqueness of solutions for fuzzy nabla initial value problems on time scales*, Advances in Difference Equations, **2019** (2019), art.no. 269.
- [14] B. SAILAJA, V. B. V. N. PRASAD: *Exploring the axiom of excluded middle and axiom of ontradiction in fuzzy sets*, International Journal of Engineering and Advanced Technology, **9**(1) (2019), 1572-1574.
- [15] R.S. KUMAR, V. B. V. N. PRASAD, B. R. DEVI: *Some Special Characteristics of Atoms in Lattice ordered loops*, Test Engineering and Management, **83**(2) (2020), 5872-5877.

- [16] V. B. V. N. PRASAD, T. RAMARAO, T. S. RAO, T. N. RAO, K. PRASAD: *Some Basic Principles on Posets, Hasse Diagrams and Lattices*, Test Engineering and Management, **83**(2) (2020), 10771-10775.

KONERU LAKSHMAIAH EDUCATION FOUNDATION  
VADDESWAREM, GUNTUR (DISTRICT), A.P., INDIA

KONERU LAKSHMAIAH EDUCATION FOUNDATION  
VADDESWAREM, GUNTUR (DISTRICT), A.P., INDIA

S.S AND N COLLEGE  
NARASARAOPET, GUNTUR (DISTRICT), A.P., INDIA

LAKIREDDY BALI REDDY COLLEGE OF ENGINEERING  
MYLAVARAM, KRISHNA (DISTRICT), A.P., INDIA

VIKAS COLLEGE OF ENGINEERING AND TECHNOLOGY  
VIJAYAWADA, AP, INDIA